
p1200.1 1200-1200 / Gear Reduction Drive 

pagina 1 van 2p1200.1 1200-1200 / Gear Reduction Drive

19-9-2013file:///C:/ProgramData/ProQuestMS/PartsManagerPro/Print/19-9-2013%2011~52~502....



Part List p1200.1 1200-1200 / Gear Reduction Drive 

REF 
# ITEM # DESCRIPTION QTY REMARK

3 Ring, Quad 

5 784005 Socket, Shifter 

6 784006 Cap, Shifter 

7 784007 Lever, Shift 

8 784003 Rod & Fork Assy., Shift 

13 784001 Rod & Fork Assy., Shift 

15 774001 Axle, Left hand (10.062" 
long) 

15A 774000 Axle, Right hand (11.312" 
long) 

16 786005 Spacer .885 ID x 1.250 OD x .375 long 

17 786045 Pin, Drive lock 

18 786000 Pin, Differential pinion 

19 778000 Gear & Case, Differential 

20 786046 Pin, Drive lock 

21 786004 Spacer .396 ID x .500 OD x .533 long 

22 778011 Gear, Differential 

23 778040 Pinion & Bearing (Incl. 24) 

24 780003 Bearing .752 ID x .877 OD x 1.400 long 

25 776001 Shaft, Shifter (4.812" long) 

26 780018 Bearing .437 ID x .625 OD x .500 long 

27 778037 Gear, Idler 

28 776004 Shaft, Idler (6.062 long) 

29 784074 Stop Assy., Shifter 

30 788000 Gasket, Case to cover 

32 778006 Gear, Shifting (2nd & High) 

33 778020 Gear, Shifting (1st & Rev.) 

34 778007 Gear, Spur (26 teeth) 

35 786002 Spacer .885 ID x 1.125 OD x .880 long 

36 778009 Gear, Spur (22 teeth) 

37 786001 Spacer .885 ID x 1.125 OD x 1.255 long 

38 778008 Gear, Spur (16 teeth) 

39 776000 Shaft, Input 

40 778004 Spur gear, Input shaft 

42 786003 Spacer .760 ID x 1.250 OD x .687 long 

43 778010 Gear, Output shaft 

44 776006 Shaft & Gear, Output 

45 788005 Seal, Oil 

47 772000 Cover, Transaxle 

48 770000 Case, Transaxle 

49 792007 Screw, 1/4-20 x 3/4" 

50 792008 Pin, Dowel 

51 780076 Bushing 

52 792010 Plug, Pipe 

56 780011 Bearing 3/4" ID x 1-1/4" OD x 1" long 

57 780013 Bearing 3/4 ID x 1 OD x 5/8 long, closed 

60 788009 Seal, Oil 

66 778003 Idler Gear, Reverse (12 
teeth) 

67 792047 Key, Woodruff 

68 790000 Drum, Brake 

69 792024 Set Screw, 1/4-20 x 1/4" 

70 650271 Screw, 10-24 x 1-3/4" 

71 650147 Lockwasher, No. 10 

72 650126 Pin, Cotter, 3/32 x 3/4" 

73 778012 Gear, Differential 

Dealer Information
Dealer Name:  Phone:  

pagina 2 van 2p1200.1 1200-1200 / Gear Reduction Drive

19-9-2013file:///C:/ProgramData/ProQuestMS/PartsManagerPro/Print/19-9-2013%2011~52~502....


